MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305)375-2901 FAX (305)375-2908
NOTICE OF ACCEPTANCE (NOA) www.buldingcodeontine.com

C. P. Loewen Enterprises
77 P.T.H. 52 West, Box 2260
Steinbach, Manitoba, Canada R2G 1B2

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Outswing Aluminum Clad Wood French Door — L.M.I.

APPROVAL DOCUMENT: Drawing No. 1102, titled “Aluminum Clad Wood Impact Outswing French
Door”, sheets 1 through 8 of 8, dated 07/31/02 with revision #A3 dated 06/30/04, prepared by W.W. Schaefer
Engineering & Consulting, P.A., signed and scaled by Warren W. Schacfer, P.E., bearing the Miami-Dade
County Product Control Renewal stamp with the Notice of Acceptance number and expiration date by the
Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered afier a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.
This NOA renews NOA # 05-0118.01 and consists of this page 1 and evidence pages E-1 and E-2, as well as
approval document mentioned above.
The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No,07-0130.21
Expiration Date: October 31,2012

Approval Date: April 05, 2007
Page 1l




C.P. Loewen Enterprises

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No 1102, Sheets 1 through 8 of 8, titled “Aluminum Clad Wood Impact
Outswing French Door”, dated 07/31/02 with revision #A3 dated 06/30/04, prepared
by W.W. Schaefer Engineering & Consulting, P.A_, signed and sealed by Warren W.
Schaefer, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test per FBC, TAS 202-94
2) Uniform Static Air Pressure Test Loading per FBC, TAS 202-94
3) Water Resistance Test per FBC, TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad wood
outswing French door, prepared by Hurricane Test Laboratory, Inc. Test Report No.
HTL-0286-0512.02, dated 3/15/01, signed and sealed by Vinu J. Abraham, P.E.
(Submitted under NOA# 02-0821.05)
2, Test reports on 1) Air Infiltration Test per FBC, TAS 202-94
2) Uniform Static Air Pressure Test Loading per FBC, TAS 202-94
3) Water Resistance Test per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411.3.2.1 (b) and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad wood
outswing French door, prepared by Hurricane Test Laboratory, Inc. Test Report No.
HTL-0286-0713-02, dated 7/17/02, signed and sealed by Vinu J. Abraham, P.E.
(Submitted under NOA# 02-0821.05)
3. Test reports on 1) Air Infiltration Test per FBC, TAS 202-94
2) Uniform Static Air Pressure Test Loading per FBC, TAS 202-94
3) Water Resistance Test per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411.3.2.1 (b) and TAS 202-94
along with marked-up drawings and installation diagram of an aluminum clad wood
outswing French door, prepared by ETC Laboratories, Test Report No. ETC-04-959-
15382.1, dated 07/12-14/04, signed and sealed by Wendell W. Haney, P.E.

(Submitted under NOA# 05-0118.01)
WM

Manuel Pere .
Product Control E & ner
NOA No.07-0730.21

Explratmn Date: October 31,2012
Approval Date: April 05, 2007



C.P. Loewen Enterprises

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS

1. Certification of anchor calculations complying with FBC-2004, prepared by W.W
Schaefer Engineering & Consulting, dated 01/22/07, signed and sealed by Warren W.
Schaefer, P.E.
Complies with ASTM E1300-98

2, Anchor Calculations and structural analysis, prepared by W.W. Schaefer Engineering
& Consulting, P.A., dated 01/11/05, signed and sealed by Warren Schaefer, P.E.
(Submitted under NOA # 05-0118.01)

3. Anchor Calculations and structural analysis, prepared by W.W. Schaefer Engineering
& Consulting, P.A., dated 5/9/02, signed and sealed by Warren Schaefer, P.E.
(Submitted under NOA# 02-0821.05)

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 03-0417.01 issued to Cardinal LG for “Laminated Glass
Cardinal Sea-Storm Type B” dated 05/15/03, expiring on 12/30/07.
2. Notice of Acceptance No. 06-1205.10 issued to E.I. DuPont DeNemours & Co., Inc.
for their “DuPont Sentry Glass ® Plus” dated 02/15/07, expiring on 01/14/08.

F. STATEMENTS
1. Statement letter of conformance, dated January 22, 2007, signed and sealed by Warren

W. Schaefer, P.E.

G. OTHER
1. Notice of Acceptance No. 05-0118.01, issued to C. P. Loewen Enterprises for their

Aluminum Clad Wood Outswing French Door, approved on 05/05/05 and expiring on
10/31/07.

Wmu u,@
Manuel Perez,
Product Control Ex@
NOA No. 07-01
Explratlon Date: October 31, 2012
Approval Date: April 05, 2007




) 727 MAX. FRAME W'DTH 3 NO. 10 SMS OR 3/16" CONCR
6" MAX. _| L MAX SCREWS THROUGH STRIKE & INTO
(TYP.) ““1“@ 4>i }__ BUCK/CONCR. (SEE ANCHOR REQ. TABLE)
\/\
1 / LI \ SEE CORNER
Al 4/ DETALLS ON
10 3/8"  SHEET 5
_/’/ @ l [ i
TYP. HEAD FRAME A / \/
- - T O
cevews s o 77 w0 |
"FRAME ANCHOR I \
REQUIREMENTS / @@+ L HINGE SCREWS: NO. 12 WITH
TABLE ON THIS | l BUTT HINGE; NO. 8 WITH ADJ.
SHEET FOR ALL T I C\ H— HINGE. THROUGH JAMB INTO
OTHER SCREW 25 13/16" ACTAE PANEL BUCK MIN. 1 3/8". (2 PER
= REQUIREMENTS. MAX. D.L.O. | LOCK HARDWARE % gggH&MIBDOTHI’I\Tg\éG)E; GSEE§/16”
Ll: / o L . .
= — . — S OR 1/4” CONCRETE SCREWS
= w INACTIVE /(: : ACTIVE © op T WHEN/DIRECT MOUNTED TO
) 5 ' Z BLOCK.
L KE\ - Z (D e O o
Lﬁj \'/ INACTIVE PANEL I I W . <§E W E
é —H LOCK HARDWARE I I . - U [aa)]
e © &)
~ Z
7 Sy lﬂ T ow
= ™~
— HANDLE A= A . _ — @
N I \\\ 4 j] | ~ | HINGE REQUIREMENTS
- ,~TYP. HINGE SIDE 8re > | DOOR FRAME |# OF HINGES
3 FRAME SCREW. Ll / . ! (FH.) HEIGHT REQUIRED
BETWEEN EACH HINGE TALLER THAN 80” 4
i AT SIDE JAMB; SEE Il | WITHOUT NAIL FIN
FRAME ANCHOR ., 80" OR LESS 3
(F;EQLTJLFTEMgSEETVF\gEE H 36 y, WITHOUT ~AIL FIN
| ALL OTHER SCREW I / / RS 3
_ﬂ REQUIREMENTS. | = —
-
| | 10 3/8"
STRIKE
PLATE I
L — A — |
1 123 1
Il
3N0. 10 SMS OR 3/16” SILL SCREW EA. SIDE OF STRIKE WITHIN

CONCR. SCREWS THROUGH EXTERIOR ELEVATION

STRIKE & INTO BUCK/CONCR. DQUBLE OUTSWING DOOR
(SEE ANCHOR REQ. TABLE) SCALE: 3/4"=1"-0"

4" OF STRIKE CENTER.

SEE "FRAME

ANCHOR REQUIREMENTS TABLE FOR ALL
OTHER SCREW REQUIREMENTS.

= FRAME WIDTH (F.W.

36 3/8" MAX.

)

3 FRAME SCREWS EQUALLY
SPACED AT HEAD.

6" MAX.

7z
25 13/16" |
MAX. D.L.O.

—® \

ACTIVE PANEL
LOCK HARDWARE

N

94 1/2” MAX. FRAME HEIGHT (F.H.)

Z_<

OPP.

PG 6" MAX
(B - :
@ ﬁ T (TYP.)
| | [~ ™ SEE CORNER
3 . : \ DETALLS ON
SHEET 5
\_ || /10 3/8"
(39 T
\ STRIKE
PLATE —

™ HINGE SCREWS: NO. 12
WITH BUTT HINGE; NO.
8 WITH ADJ. HINGE.
THROUGH JAMB INTO
BUCK MIN. 1 3/8". (2
PER TOP & BOT.
HINGE: 1 PER EACH
MID. HINGE). USE
3/16" OR 1/4”
CONCRETE SCREWS

v

. @

L
Z

~TYP. LOCK SIDE
FRAME SCREW @
MAX. 16" 0.C. SEE
"FRAME_ANCHOR
REQUIREMENTS TABLE
ON THIS SHEET FOR
ALL OTHER SCREW
REQUIREMENTS.

/5

PLATE

— — —J

(SHEAR SCREW MOUNT)

FRAME ANCHOR REQUIREMENTS TABLE

GENERAL NOTES

1. THESE DOOR SYSTEMS HAVE BEEN TESTED, ANALYZED AND APPROVED FOR DESIGN

PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN LOADS" TABLE(S).

2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & 2%
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE.

3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & MAY

FIN SCREWS
OPENING TYPE JAMB TO OPENING MINIMUM | MINIMUM
(SUBSTRATE) FASTENER TYPE EMBED |EDGE DIST.
2X_ WOOD FRAME OR BUCK NO. 8 SMS SCREW: 13/8" 3/4
SHEAR SCREWS
_ WOOD FRAME OR BUCK NO. 10 SMS SCREW 13/8" 3/4"
CMU/CONCRETE ()'3/16” CONCRETZ SCREW 11/4” 2"

NOT VARY UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS.

4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED &
PROPOSED FOR WATER, AIR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING

(1) CONCRETE SCREWS SHALL BE ELCO OR [TW RAMSET/RED HEAD TAPCONS,
HILTI KWIK—CON Il OR POWERS RAWL TAFPER (HARDENED STEEL OR S.S.).

IN CONFORMANCE WITH FLORIDA BUILDING CODE PROTOCOLS TAS-201, 202 & 203 FOR
LARGE MISSILE IMPACT DOORS.

5. THESE DOOR SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH THE FLORIDA
BUILDING CODE (F.B.C.) FOR HIGH VELOCITY HURRICANE ZONES (HVHZ).

4

EXTERIOR ELEVATION

SINGLE OUTSWING DOOR
SCALE: 3/4"=1'-0"

(SHEAR SCREW MOUNT)

@D

EQUAL SPACING BETWEEN HINGES

ALLOWABLE DESIGN LOAD

POSITIVE NEGATIVE

70 PSF 70 PSF

* ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPENING, MOUNTED ONTO A CONTINUOUS WOOD
SPACER, OR ANCHORED TO A MIN. 2x4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ANCHORED TO A 2x4 BUCK, NO.

WHEN DIRECT MOUNTED
TO BLOCK.

TYP. HINGE SIDE FRAME
/SCREW. BETWEEN

EACH HINGE AT SIDE
JAMB; SEE "FRAME
ANCHOR REQUIREMENTS
TABLE ON THIS SHEET
FOR ALL OTHER SCREW
REQUIREMENTS.

T RENEWED
o with the Florida

DRAWN BY:
J.CF.

CHECKED BY:
W.W.S.

PLOT:

DATE:
6 07

L)

31/02

DATE

BY
K.P.S. ] 06/30/04

K.p.s. | 06/30/04
K.p.s. | 06/30/04

REVISION DESCRIPTION

A1 [REVISED NOTES 4 & 5

A2 JADDED SHEETS 7 & 8

A3 |ADDED DXXO & SIDEUGHT
ELEVATIONS & SECTIONS

NO.

C.P. LOEWEN ENTERPRISES
77 PT.H 52 WEST, BOX 2260
STEINBACH, MB CANADA R5G 1B2

MANUFACTURER

204-326-6446

ALUMINUM CLAD WOOD IMPACT OUTSWING FRENCH DOOR

TILE

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING

CONSULTANTS

DRAWIN

PALM BEACH GARDENS, fL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

. SCHAEFER, P.E.
NO. 44135

— T
DRAWING NO.

6. IMPACT SHUTTERS ARE NOT REQUIRED WiTH THESE. DOGRS. 10 SHEAR SCREWS OR NO. 8 FIN SCREWS SHALL BE USED. WHEN DIRECT MOUNTED OR MOUNTED WITH SPACER, 1102
7. ALL ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED 3/16” CONCRETE SCREWS SHALL BE USED. SEE "ANCHOR REQUIREMENTS TABLE” FOR EMBED REQUIREMENTS. PROPER SHEET NO.
EMBEDMENT TO BASE MATERIAL SHALL BE BEYOND WALL FINISH OR STUCCO. MATERIAL SHALL BE USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM). 1 o 8




3 NO. 10 SMS OR 3/16”
CONCR. SCREWS THROUGH
STRIKE & INTO BUCK/CONCR.
(SEE ANCHOR REQ. TABLE)

TYP. #8 FIN SCREW AT EACH
CORNER & 6 1/2" MAX. O.C.

36 3/8” MAX.

SIM.

b

" FRAME WIDTH (F.W.) -

72" MAX. FRAME WIDTH (F.W.) SEE "FRAME ANCHOR
REQUIREMENTS TABLE" ON
START ALL ‘ SHEET 1 FOR OTHER SCREW
FIN' SCREWS S, (B REQUIREMENTS
DIRECTLY AT 7
CORNERS 7 .
y A <5 /T SEE CORNER
A DETAILS ON
% Ll b SHEET 5
0 , 10 3/8
@) / I /
-+ STRIKE H—-
T % PLATE |=1 W -
: . | HINGE SCREWS; NO. 12 WITH
I BUTT HINGE; NO. 8 WITH ADJ.
Il HINGE. THROUGH JAMB INTO
25 {3/16” U BUCK MIN. 1 3/8". (2 PER
~ MAX. D.L.0. | ’/ LOCK HARDWARE o TOP & BOT. HINGE; 1 PER
= L N\ _ £ EACH MID. HINGE). USE 3/16
S . T S OR 1/4" CONCRETE SCREWS
= INACTIVE I ACTIVE ¢ T WHEN DIRECT MOUNTED TO
o) . / //I | 5 .| OPP. = BLOCK.
L\ v A IR 2 &/ £
= am. |- INACTIVE PANEL = oM L
3:( LOCK HARDWARE l | - ’ @
= 3 ¢
2 N N o = | HINGE REQUIREMENTS
=t 1 w
. . HANDLE = » DOOR FRAME |# OF HINGES
& Z (F.H.) HEIGHT |" REQUIRED
- \ / S |TALLER THAN 80" 4
3 Il WITHOUT NAIL FIN
\ 80" OR LESS 3
I WITHOUT NAIL FIN
. UP TO 94 1/2"
\/ : : y 36 // WITH NAIL FIN 3
o ©
I l STRIKE 10 3/8
PLATE i
— = — A ———J
i | LN S |
q 11
3 NO. 10 SMS OR 3/16" q SILL SCREW EA. SIDE OF

CONCR. SCREWS THROUGH

EXTERIOR ELEVATION

STRIKE & INTO BUCK/CONCR. DOUBLE OUTSWING DOOR

(SEE ANCHOR REQ. TABLE)

SCALE: 3/4"=1'-0"
(NAIL FiN“MOUNT)

STRIKE WITHIN 4" OF STRIKE

CENTER. SEE "FRAME ANCHOR
REQUIREMENTS TABLE FOR ALL
OTHER SCREW REQUIREMENTS.

CHECKED BY:
W.WS.

DRAWN BY:
J.CF.

PLOT:
1=16

DATE:
05/05/02

TYP. #8 FIN SCREW AT
EACH CORNER & 6 1/2"
MAX. 0.C. SEE "FRAME
ANCHOR REQUIREMENTS
TABLE" ON SHEET 1 FOR
OTHER SCREW
REQUIREMENTS

, =5 "~ SEE CORNER
L ‘ DETAILS ON
) b SHEET 5
STRIKE 1 N 10.3/8
PLATE
: | : - HINGE SCREWS; NO. 12
| X WITH BUTT HINGE; NO.
25 13/16" __ | 8 WITH ADJ. HINGE.
A MAX. D.L.O. THROUGH JAMB INTO
By | BUCK MIN. 1 3/8". (2
T ——25) , 2 PER TOP & BOT.
w ) '// ACTIVE PANEL 15l S HINGE; 1 PER EACH
= LOCK HARDWARE \ T MID. HlNGE). USE
5 . OPP. =z 3/16” OR 1/4"
o | 4 (T [ CONCRETE SCREWS
| 5 < \G/ £ WHEN DIRECT MOUNTED
J J
= . SIM. SIM. @ TO BLOCK.
= | o
L =z
> il Q
<t HANDLE o
= L /S / |1 wn
H : =
o~ <
~
- / >
; ROBUCT RENEWED
/ % 64 ing with the Florida
36" / /
%)
PLATE
— — —]
START ALL q
FIN SCREWS
DIRECTLY AT
CORNERS

EXTERIOR ELEVATION
SINGLE OUTSWING DOOR
SCALE: 3/4"=1'-0"
(NAIL FIN MOUNT)

w
T
o
&
z
Q
=
o
&
o
0
w
o
z
9]
0
&
@
o
4
&
Q-
N~
5| B8
o 0:><0C
f) Q-O<LD
roqgw
| B =23
ol z5%
aNs
2| =23
@ E,; M
[ o~
Em§¢
Q1 oL -R
prd R
< =3
A Tk
5“2
o @ ™~ J
> —
= |2 @
o IE
< I
a i<
= =
-
o 4] 2
(@] z <+ 2'
(@] o 89\0
= oo, LER
Weg ©2
al 2573
3| 8% 3%
o uZJ(.'J-:.mE
= o:zéé
=
) mhes
>
z | ug £33
= <z§5ﬁ
wD |, 50 2ar
E2 209 =25
— Z = ©
o 5.8 837
< >5= ©a )
= %] © Z
: 5. ¢
= 8= z

wi

z &3
ol (raby
= 3\ <<
Ll w=h R
Q N Qo
e vz
..lﬂ—f = - ;‘-'J
Ol = *«]5\
=y lee.,
o

DRAWING NO. REV.

1102 A

SHEET NO.

2 o 8




146 3/4" MAX. WITH WOOD REINFORCED MULLIONS

144 3/4" MAX. WITH STEEL REINFORCED MULLIONS
36 3/8" MAX. , 36 3/8" MAX. 36 3/8" MAX.
) FRAME WIDTH (F.W.) 7% MAX. FRAME WIDTH (F.W.) FRAME WIDTH (F.W.) " - FRAME WIDTH (F.W.) -
120 f\élAX. 6" MAX. 6" MAX.
6" MAX. e »1~6” [ (TYP) l - (TYP.)
(M) ] (6) (4) d <4’ <6> <6>
| L] | L1l | I | * | | *
\ / 8" MAX. (TYP.) 6" MAX. (TYP.)
/ y/ @ / \3 NO. 10 SMS OR / /
11 STRIKE . w
/ gl / PLATE \3/16" CONCR. il / /
\ / SCREWS THROUGH =~ op;;\sng
TYP. FRAME SCREW STRIKE & INTO 3 F
WHERE SHOWN. SEE BUCK/CONCR. NEY ~ & v
— "FRAME ANCHOR HINGE / (SEE ANCHOR T T T
REQUIREMENTS REQ. TABLE)
— TABLE” ON SHEET 1 @) ~
R FOR SCREW 26— =
= REQUIREMENTS.  SEE I il LOCK HARDWARE I N
= MULLION END \ = 3
o I ANCHOR NOTE / | & a | |
N ADDITIONAL OPPOSITE i MAX. D.L.O.
= =
: X @ X @ 0 & :
SRV BVATIA ~ o/ v 6 v N e =X
x &J g 6 @) (H2) % o
= —t (H2 \6/ L =~ 1.
. v Bl HANDLE = OPPOSITE 11 - TYP. FRAME SCREW
N / Q WHERE SHOWN.
S | 16" MAX. - SEE "FRAME 16" MAX.
< || JSLLL_SCREW EA. SIDE 0.C 3 ANCHOR 0.C.
3 NO. 10 SMS OR OF STRIKE WITHIN 4” e REQUIREMENTS
3/16" CONCR. I OF STRIKE CENTER. TABLE” ON SHEET 1 l
1 SCREWS THROUGH SEE "FRAME ANCHOR i - FOR SCREW H—
STRIKE & INTO Il | | REQUIREMENTS TABLE REQUIREMENTS.
BUCK/CONCR. (SEE FOR ALL OTHER / /
% ANCHOR REQ. H SCREW / / /
ml TABLE) I REQUIREMENTS. 7 il
-
_..//\ v l l .. U .
1 I ——— | S SR g—
- T e 1 ! i q i
" q q \’ \ Ll IR . 6" MAX. 67 MAX.
o ] TTTT s TTTT e on T )
(TYP) 3 E PLATE 3 (TYP) EXTERIOR ELEVATION
TYP. FRAME SCREW WHERE EXTERIOR ELEVATION SIDELIGHT
SLQUIRENENTS TABLE" ON S MULTIPLE OPERABLE/FIXED UNIT SCALE: 3/47=1 -0
R et ook O SHEE] SCALE. 3/4"=1"-0" SHEAR SCREW MOUNT CONDITION SHOWN. FOR FIN MOUNT
’ DETAILS, SEE SINGLE DOOR ELEVATION ON SHEET 2
MULLION END NOTE BELOW FOR (FOR DETAIL NOT SHOWN, SEE OTHER ELEVATIONS)
ADDITIONAL MULLION END NOTE: OXXO DOOR SHOWN. ALL OTHER 4~PANEL CONFIGURATIONS
ANCHOR REQUIREMENT. OF SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY.
MULLION END ANCHOR NOTE: SHEAR SCREW MOUNT CONDITION SHOWN. WHEN FIN pRQQUCTRENEWED
MULLION END CONDITION SHOWN SHOWS 4 SCREWS MOUNTED, ANCHOR EACH UNIT AS SHOWN WITH FIN 8 00t w
PER MULLION END. WHEN MOUNTING TO WOOD MOUNT ELEVATIONS. NOTE THAT WITH FIN MQOUNTED A;
AND REQUIRED DESIGN PRESSURE IS OVER +/-57 UNIT, ALL STRIKE PLATE & MULLION END SHEAR o DC]
SCREWS SHALL REMAIN (3 SCREWS PER STRIKE PLATE
PSF, ONE ADDITIONAL SCREW IS REQUIRED EACH % 4 OR 6 CORNER SCREWS PER MULLION END) /] ./
SIDE OF THE MULLION 9” OFF FRAME CORNERS : : ggf /,
(NOT REQ'D WHEN MOUNTED TO CONCRETE). it

DRAWN

J.C.

BY: CHECKED BY:
F. WWS.

PLOT:
1

DATE:
=16 05/05/02

DATE

BY

REVISION DESCRIPTION

NO.

ALUMINUM CLAD WOOD IMPACT OUTSWING FRENCH DOOR

DRAWING TITLE

C.P. LOEWEN ENTERPRISES
204-326-6446

77 P.T.H 52 WEST, BOX 2260
STEINBACH, MB CANADA R5G 1B2

MANUFACTURER

8895 N. MILITARY TRAIL; SUITE C-204

W. W. SCHAEFER ENGINEERING
& CONSULTING, P.A.

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 FAX: 561-775-4903

CONSULTANTS

CERTIFICATION
JAN § 1 2005,

2.
Py

AEFER, P.E.
. 44135

e
/,,//
Ve

P.E.

A
WARREN W~ b%H

1

DRAWING NQ.

Y
>3

102

3

SHEET NO.

o 8




covpmremy

MIN 2X4 — |- [% e L e T~ MIN. 2x4 R
BUCK/FRAMING [~ * e % e wa p i 7 SOl TG e A T BUCK/FRAMING & BUCK FIN FASTENER I
& BUCK ‘ R / ATTACHMENT BY OTHERS PER ELEVATIONS Al
ATTACHMENT , el LT T w
BY OTHERS 37 174" MAX. . o RIS e 5
SHIM AT v 1/4" MAX. ol e ot PR
SEALANT & EACH TR [ SHM ST —MIN. 2x4 N
BACKER ROD — ANCHOR //"‘V‘i=iaﬁs \Z BUCK/FRAMING &
BY OTHERS XY TEETRN I~ SEALANT BY OTHERS BUCK
R Ny = vy &
. m‘%i!i.-..!; (BEHIND & AT ATTACHMENT BY [|8
=T ) CORNER OF FIN) OTHERS =
NO. 10 SMS ufa : 2
\@ SCREWS (3/16” z
CONCR. SCREW IF SEALANT & o
ANCHOR a
FRAME ANCHOR INTO CONCRETE) (FSQQAESHEECTH% BACKER ROD g
(SEE SHEET 1) SEE ANCHOR REQ. NOTE: ANCHORS BY OTHERS
MAY BE PLACED (3 PER DOUBLE THROUGH THIN #7 X 1/2" PH SMS
THROUGH THIN PANEL STRIKE OR THICK PART 1” FROM CORNER &
y OR THICK PART PLATE; 2 PER OF JAMB 6" MAX. 0.C.
EXTERIOR / OF JAMB. SINGLE PANEL ’ : NOTE: STRIKE, HINGE & S
, STRIKE PLATE) MULLION END SHEAR "3~
B _ SCREWS NOT SHOWN & W &3
SEE "GLAZING [EXTERIOR] BUT DO APPLY PER i > &
DETAIL* ON \ EXTERIOR EXTERIOR ELEVATIONS. S 28<@
SHEET 5 | E 23
ol 227
Z “‘&om
|l 2 S
1 BRS<
—~~ [®) ”O
= FIN_MOUNT DETAIL 2| 2=g7
= HEAD DETAIL SHOWN; SIDE JAMBS SIMILAR 0| e
= (SEE SECTIONS FOR DETAIL NOT SHOWN) = EO~Z
2 | 3/16" CONCRETE SCREW TO B b
EXTERIOR T EXTERIOR REPLACE FRAME, HINGE OR STRIKE MIN. 3 1/2” DEEP CONTINUOUS WOOD Iy =
W SCREWS (REF. SHEET 1 & OTHER P.T. MEMBER LESS IN SIZE THAN A 2x_ || & |3
< SECTIONS FOR LOCATIONS & BUCK (NOT REQUIRED WHEN SPACE IS =
& /@) INSTALLATION REQUIREMENTS) 1/4” OR LESS & MIN. 2" WIDE SHIMS al o g
, ARE PLACED AT EACH ANCHOR) 8l £ &l
et e e ; H - égF
. - -4 : <  ™ml
SILL SUBSTRATE SHOWN g Za £ 3
IS CONCRETE. SILL SEALANT & BT
MAY OPTION TO — MAY ALSO BE BUCKED HARDWARE SUPPORT BACKER ROD o UZ-I(Z’ —_Jgg
PLACE MAX. 1/4 SAME AS AT THE HEAD. WOCD MEMBER BY OTHERS = e é‘éN
@~ SHIM BETWEEN WOOD 1.71" X .96" z2 | £>g3%
SILL ANCHOR SILL AND SUBSTRATE 11" LENGTH ../ S| €25z
PER O, w3 |58 255
ELEVATION ON ~ A AT
SHEET 3 NO. 10 SMS SCREWS (3/16” z |33 &%y
(REQ'D AT CONCR. SCREW IF INTO S 2
MULLION END CONCRETE) SEE ANCHOR
CORNERS REQ. TABLE ON SHEET 1. (3 ui
ONLY) PER DOUBLE PANEL STRIKE o
PLATE; 2 PER SINGLE PANEL z o
STRIKE PLATE) 2 iy
| 3 5g
: ' : @ 172
SEALANT 2 A : — e : & EX
BY OTHERS ll!_m-““ S ' - SR S EXTERIOR 5 =0
AT = _ — . W Lt 8% CE A g
A ;i 4. . T N : pE BV R . . v . " 2
O LI = T AR SR -SILL ANCHOR (SEE ELEVATION) s
- .o < - . L 4 a a®
{.«A = S PR SECTION (B (MAY ANGLE PERPENDICULAR : e
SECTION N SCALE: 1/2 FULL \4/ o T0 SILL SURFACE) DIRECT MOUNT DETAIL 1102 |'A
: 2 (FOR DETAIL NOT SHOWN SEE SECTION "A”) - HEAD JAMB DETAIL SHOWN; SIDE JAMB SIMILAR SHEET NO.
SCALE: 1/2 FULL \ 4/ (SEE SECTIONS FOR DETAIL NOT SHOWN) 4 o 8




1/4" MAX. CORNER CONSTRUCTION: DRAWN Y. [CHECKED &:
SHIM AT — FRAME WIDTH (F.W.) — PANEL TOP: ' e | “jossun
EACH ANCHOR v WOOD MEMBERS ARE JOINED BY TWO (2) FULLY GLUED #5/8” X & " BIRCH DOWELS 3" INTO -
EACH THE STILE & RAIL MEMBER
_— /"@ PANEL_BOTTOM: i
o NO. 8 SMS SCREW INTO BUCK AT WOOD MEMBERS ARE JOINED BY FOUR (4) FULLY GLUED ¢5/8" X 6 " BIRCH DOWELS 3" INTO e
: : EACH THE STILE RAIL MEMBER,
| ADJUSTABLE HINGE; NO. 12 SMS AL g AL MEND N
- SCREW AT BUTT HINGE. (2 PER \ THE SASH CLADDING IS COPED, SNAPPED ONTO EACH MEMBER AND THEN SEALED AT THE ®
N TOP & BOTTOM HINGES: 1 PER BUTTED SEAM WITH AN ACRYLIC/URETHANE SEALANT.
® EAD_JAMB:
RIS EACH MIDDLE HlNGE A WOOD MEMBERS ARE COPED, SEALED, BUTTED TOGETHER AND MECHANICALLY FASTENED USING ,—_‘Z?
L@ H‘ @ TWO (2) 2" X 16 GA. STAPLES AND TWO (2) #8 X 2 1/2" FH WOOD SCREWS HORIZONTALLY %
C e Y 1 @@ ; AND ONE (1) #8 X 2 1/2" FH WOOD SCREW VERTICALLY. A SILICONE SEALANT IS APPUED TO Q
@@ . f'? SEAM PRIOR TO JOINING. u
“—\ S SILL_JAMB: z
'q"v g \ WOOD MEMBERS ARE COPED, SEALED BUTTED TOGETHER AND MECHANICALLY FASTENED USING %
@'\ g e TWO (2) 2" X 16 GA. STAPLES AND TWO (2) #8 X 2 1/2° FH WOOD SCREWS HORIZONTALLY & ||
- N / \ — ONE (1) #8 X 2 1/2" FH WOOD SCREW VERTICALLY. A CLOSED CELL FOAM GASKET AND A x
' I SILICONE SEALANT ARE APPLIED BETWEEN JAMB MEMBERS PRIOR TO JOINING. )
¥ ﬁﬁ JAM ING: S
= THE JAMB CLADDING iS MITERED, BUTTED TOGETHER & MECHANICALLY FASTENED USING ONE(1)
: #6 X 1 1/2" SMS PER CORNER. SEALANT."IS APPLIED TO SEAM BEFORE JOINING. NOTE THAT
‘\—SEE GLAZING ._/ \@ \@ \_@ \® AT THE SILL, THE JAMB CLAD BUTTS AGAINST THE SILL CLAD. )
EXTERIOR DETAIL” ON N
' THIS SHEET [EXTERIOR] n o=
zet SECTION /5 7/18 /e x /8 coane || @&5
Sleent TAP CH SIDE AN
SEALANT & SCALE: 1/2 FULL \5_/ E (EA ) S| 2x=.
BACKER ROD 7/16" MIN. ol 2adz
MIN. 2X4 BY OTHERS SECTION m r GLASS BITE 1/4" 16 GA. FINISH 5 = ,__-:z(c UID
BUCK /FRAMING SCALE: 1/2 FULL \5/ NAIL 2" FROM CORNERS Z “Jgucc\o‘
& BUCK A2 (T & 67 0.C. MAX. gl 55,5
ATTACHMENT f < =83+
BY OTHERS EXTERIOR] ] g1 Sz =<
” » = MLl @]
SEE SHEET 4 FOR "OPTIONAL 178" CLAZING St ol &3
DIRECT MOUNT” & "FIN 2 FROM EA 4 Dow 995 SILICONE CAULK 2E RS
CORNER 2 PER SIDE 2 =
MOUNT” DETAILS. (ALL AROUND) T
3/4” 18 GA. BRAD 1" FROM R E
CORNERS & 6" MAX. O.C. S E
GLAZING DETAIL ol o 3
1/4" MAX. ) OPTION 1) CARDINAL SGP LAMINATED GLASS 7/16” THICK St 2 z.l
SHIM AT — FRAME WIDTH (F.W.) — 1/4” MAX. OVERALL (3/16” AN./0.090 SGP/3/16" AN.) = | W, J3R
EACH ANCHOR : SHIM AT — FRAME WIDTH (F.W.) — ol ¥<..8:
EACH ANCHOR OPTION 2) CARDINAL SEASTORM -TYPE "B” LAMINATED Q| = E.5
- /{D@ ‘ GLASS 7/16” THICK OVERALL (3/16" ol 2 oox
S - AN./0.015 PVB/0.007 PET/0.075 PVB) 3/16” = Zz 32t
MIN. 2X4 BUCK/FRAMING MIN. 2X4 B : ‘ AN.) OR (3/16" AN./0.045 PVB/0.007 =) i ;gg
& BUCK ATTACHMENT BY\' BUCK/FRAMING PET/0.045 PVB) 3/16” AN.) zZ| LgEe%
OTHERS & BUCK TR //_G>@> L3 |, £3 388
Ce ATTACHMENT ... \>’ £ 230 .80
: BY OTHERS * ° .« g 038
o9 21 L e B9 aE,
. [@ U 2] @) TROBUCT REVISSD : s T
. L e - Q= T
FRAME ANCHOR——— "~ - A~ / / @ O Soplyiog wih e Flositn 5= 2
(SEE SHEET 1) e 7 \  FRAME ANCHOR a—— = T\ N mu 2 0) , u
NOTE: ANCHORS S N (SEE SHEET 1) ixplieation Doty [0/ P
MAY BE PLACED e | ~ &i\ [
THROUGH THIN OR S . o =3 b3
THICK PART OF S , \ / RN ] 2 = 3
JAMB E e . N - { "Vi‘, . . _ X ' \ / Lz [ra—y 3 ag
5 SEE "GLAZING ST \\«\_/ £ \ X
, DETAIL” ON T ok 3 @) SEE "GLAZING of = A\\ |g"
THIS SHEET DETAIL" ON = g
THIS SHEET =
SECTION /BN S AT -
SEALANT & SECTION m DRAWING NO. |REV.
BACKER ROD SCALE: 1/2 FULL \5/ SEALANT & 1102 | A
BY OTHERS BACKER ROD SCALE: 1/2 FULL \5/ SHEET WO,
BY OTHERS 5 o 8




MIN. 2X4 S rale 0 -7 7S ~FRAME ANCHOR
BUCK /FRAMING TGt va e et 7 (SEE SHEET 1)
& BUCK :
ATTACHMENT v .
BY OTHERS 37 1/4" MAX.
SHIM AT
SEALANT & Ah%éf{lgR
BACKER ROD Ll —
BY OTHERS :

H
il
VLY

i

N

LA T T

EiET
[

SEE "GLAZING -)\

MULLION SEAM COVER .
AS REQUIRED \ 1/2" X 1" CORRUGATED
/ FASTENERS 4" OFF ENDS &
MAY OPTION TO USE ] MAX. 6" 0.C.

NO. 10 SCREWS WITH
FULL RE!NFO(RCEMENT
PENETRATION(IN LIEU

OF CORRUGATED O
FASTENERS) 4" FROM
ENDS & 16" 0.C. AT
EACH JAMB (MAY

V7 /@
I L 4" X 5 1/4" CONT.

DOUGLAS FIR WOOD
REINFORCEMENT

£ L — BOND BAR TO EACH JAMB
WITH POLYURETHANE

STAGGER EACH SIDE) : I SEALANT
C/ <§: g e <FF3
0| ]

SILICONE SFEALANT
|

APPLIED PRIOR TO

DETAIL" ON MILLION COVER
SHEET 5 SECTION /AT
SEE SHEET 4 FOR "OPTIONAL SCALE: 1/2 FULL \&/
DIRECT MOUNT” & "FIN (SEE JAMB SECTIONS FOR DETAIL NOT SHOWN)
— MOUNT" DETAILS.
b
= _ SEALANT BY
n MULLION SEAM COVER —~ OTHERS 172" X 1" CORRUGATED
EXTERIOR = AS REGUIRED —\ FASTENER 4" OFF ENDS &
s MAX. 6" 0.C
2 MAY OPTION TO USE - L.
o~ NO. 10 SCREWS WITH
Le.
FULL BAR § 2
PENETRATION(IN LIEU ) . PRODUCT RENEWED
OF CORRUGA(TED @'\ 1 1S4éELXEA3R1/ 4" CONT. A6 as complyinrg with the Flosida
FASTENERS) 4" FROM Buiging Code
& 16" 0.C. AT Acceptanes No O 7=0130.2/
E;'gﬁ \(JSZMB (M AY. 2 |_—— BOND BAR TO EACH JAMB Expiration Date O T- 2/ 0|2
PLUG SCREW WITH POLYURETHANE

PLACEMENT

|— MAY OPTION TO
PLACE MAX. 1/4"
SHIM BETWEEN WOOD
SILL AND SUBSTRATE

SILL ANCHOR PER
ELEVATIONS

SECTION N
SCALE: 1/2 FULL \6_/

SEALANT

STAGGER EACH SIDE) (T
894

N <3
NNRAN LU
AL

SILICONE SEALANT
APPLIED PRIOR TO

MILLION COVER
SECTION /A2
SCALE: 1/2 FULL \6 /

(SEE JAMB SECTIONS FOR DETAIL NOT SHOWN)

DRAWN BY: CHECKED BY:
JCF. WWS.

: DATE:
1=16 05/05/02

REVISION DESCRIPTION

o~
OCD
Q-
NN
@ %NE{%
8 =T
A OO w
. o<
s < %
T | ~Z O
Ol 2h<
gl -£°%
==
CLE L'JNCDP?
Sn=<
[&] o _8
4 2T ¢
= =O
n D.O._é
i 3
2 E°RE
o {5 —
/e w
= |2
ok
< |z
a <
2 =
al o S
8l £ :.1
i N o0
= W LeR
LI-|< :.,’I
[a] Z @
31 &8 .a=]
O] Gd 542
Z Z5
2 - Foo
2 W, %o
4 h: ro <
-~ mp:II
g %Z ag‘,’l
" 3
= &08 u
F< |z o Z_3
5 -8 8I°
= o= 0 O
= %] @™z
: B T ¢
= o= Fo

2\

e

CERTIFICATION

2.4
[1.4
<
=
DRAWING NO. | REV.

1102

SHEET NO.

6 o 8




FULLY LAMINATED/GLUED
DOUGLAS FIR SKIN
(OPTIONAL VERTICAL GRAIN SKIN)

. 2.500" —=

(3)SILL JamB

FULLY LAMINATED/GLUED
DOUGLAS FIR SKIN
(OPTIONAL VERTICAL GRAIN SKIN)

N

e

FINGER JOINTED
( DOUGLAS FIR

7.283"

-

. 3.740"
/ I [ 1A f
g 1.693"
T
\ R N ]
\_ FINGER JOINTED
DOUGLAS FIR
@LOCK SIDE_STILE
2.516" —=|
| 1.084" |
f T - 0.079"
1.840% 534 0.059”

»
——

1.952" —»l

-

\ 1.5t'7"

AN
3.644" i
. 740"
— (0.866

B N
—0.512" - ]

ASTRIGAL —  1.693"
Jeare (5) IoP_RAIL

0.748" & ﬁ“"“‘r

0.441" — }‘

@ GLAZING STOP

0.059" —w—{i~e—

4.331" —

il

0.48Q" —=

059"

"

S

0.441" — ?

|

1.663"
2.894"

‘TOP RAIL CLAD

0.480" J

(1) STILE_CLAD

l .BOTTOM RAIL

FULLY LAMINATED/GLUED
DOUGLAS FIR SKIN
(OPTIONAL VERTICAL GRAIN SKIN)

FULLY LAMINATED/GLUED
DOUGLAS FIR SKIN
(OPTIONAL VERTICAL GRAIN SKIN)

DOUGLAS fIR

‘v 0.477"

—~—0.089"

'<~ 0.451"

—

\ FINGER JOINTED

7.874

L

|

(12) BOTTOM RAIL CLAD

__,
T

1.0747

i+

0413

0.102"

NOTE: ATTACH STRIKE TO PANEL WITH

(15) ASTRIGAL CLAD oot
SILL CLAD I
@) 1.358” © ©
o O°O o)™ e U
o
1.661
0078>’ 0.827" —j=m (29) I0P_STRIKE PLATE (DOUBLE DOOR) (30) SILL_STRIKE PLATE (DOUBLE DOOR
{ *‘j’ (1/8” THICK)
0,557 0.778"  0.020" —=p=— | 4 15 9.843" ‘ I
. SILL NOSE . NAIL FIN 0.984" ; © o © o ©
| f (3)I0P_RAIL STRUCTURAL PLATE  NOTE ATIACH STRIE 0 F

-——— 3.740"

C

=
L

/

1.693"

Q
\ FINGER JOINTELJI=

DOUGLAS FIR

4

[ @HINGE SIDE_STILE

OO49 ‘

0. 567

L

CLAD

JAMB

-~ 3.033" -*l

|

2.858"

I

(17) THERMAL

0.059”

BREAK

pRODUCT RENEWED
as complying with the

Buiding Code

Aceoptanee No &

; 0.772"

1.924" —*

CHECKED BY:
LAAY

DATE:
05/05/02

REVISION DESCRIPTION

MANUFACTURER

C.P. LOEWEN ENTERPRISES
77 PT.H 52 WEST, BOX 2260
STEINBACH, MB  CANADA R5G 1B2

204-326-6446

ALUMINUM CLAD WOOD IMPACT OUTSWING FRENCH DOOR

DRAWING TITLE

CONSULTANTS

W. W. SCHAEFER ENGINEERING

PALM BEACH GARDENS, FL 33410
PHONE: 561-775-4902 fAX: 561-775~4903

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C~-204

I
¥

CERTIFICATION

JAN

i
i

2

P.E. NO. 44135

N

1102

DRAWING NO.

Pl
)>Q WARREN W. SCHAEFER, P.E.

OF

v

SHEET NO.

8




ﬁfD—RAVﬁ: FBY: CHECV:(S; gy:
TEM §) PART e DESCR'PT'ONP S MANUFACTURER/NOTES * WOOD USED WITH TEST UNITS WAS GRADE 2 NORTHERN DOUGLAS FIR. T
: ALTERNATE WOOD SPECIES TO BE APPLICABLE WITH THESE WINDOWS IS
‘ 1876  {HEAD JAMS © WOoD MIN. GRADE 2 MAHOGANY, OAK, CHERRY, MAPLE & CYPRUS. y
2 1874 | SIDE JAMB * WOOD g
3 1427 SILL JAMB * WOOD NOTE: ALL WOOD IS RECEIVED BY LOEWEN WINDOWS AS GRADE 2, BUT IS
4 1837 ASTRIGAL * WOOD MACHINED BY LOEWEN TO A SELECT GRADE USE. > “
5 |1828/1839 |TOP RAIL/VERTICAL GRAIN TOP RAIL *+ WOOD
6 1825/1835 HINGE SIDE STILE/VERTICAL GRAIN HINGE STILE [ * WOOD -
7 |1824/1833 [LOCK SIDE STILE/VERTICAL GRAIN LOCK STILE |* WOOD £
8 1822/1831 | BOTTOM RAIL/VERTICAL GRAIN BOTTOM RAIL * WOOD &
9 4493 |GLAZING STOP *+ WOOD g
10 1854  |TOP RAIL CLAD 6060—T5 ALUMINUM - 8.819" z
1 1856 |LOCK & HINGE SIDE STILE CLAD 6060—T5 ALUMINUM 0.102'—“-w g
12 1852 |BOTTOM RAIL CLAD 6060—T5 ALUMINUM - ~ f €
13 1472 |HEAD JAMB CLAD 6060—T5 ALUMINUM ~
14 1475 | SIDE JAMB CLAD ‘ 6060~T5 ALUMINUM . o > © E:—_] © 1.299" 2
15 1859 |ASTRIGAL CLAD 6060—-T5 ALUMINUM t
16 1462 | SIL CLAD 6060-T5 ALUMINUM : - .
17 1479 |THERMAL BREAK @ SILL 6060—T5 ALUMINUM ‘ o
18 1850 | SILL NOSE 6060—T5 ALUMINUM @ LATCH & DEAD BOLT STRIKE PLATE =
19 4940 NAIL FIN STEEL (Fy = 50 KSi M|N.) NOTE: ATTACH STSIKE T0 PANEL/JAMB WITH @ &go
XX - MULLION (1" X 5 1/4” X LENGTH) * WOOD FIVE (5) #7 X 1" FH SMS. S B &
XX - MULLION (1/4° X 3 1/4” X LENGTH) STEEL £567" —— ] al &9 =<
SEALS & SEALANTS _ ' 0102 ‘“* | B 23
20 4973 |TOP RAIL CAP SPARTECH: #R2405C ' - N T Q| &as.
21 1894  |JAMB WEATHERSTRIP INTEK: #50178A @ (: @ . gl z= 5
22 1889 | SILL WEATHERSTRIP GENERAL WINDOWS: #F821 A 1258 = %g 2
23 - ASTRIGAL WEATHERSTRIP SSI: #CAP—425 OR ULTRAFAB: #E104186N l % S r -8
24 1882 | OUTSWING SWEEP . RIGID PVC, SPARTECH: #R-24818 S =&
: HARDWARE HOOK BOLT STRIKE PLATE g mﬁié
25 - 5-POINT LOCK HARDWARE (ACTIVE PANEL) FUHR 856 SERIES NOTE: ATTACH STRIKE TO PANEL/JAMB WITH o) 'g‘ ~ E
26 - 2-POINT LOCK HARDWARE (INACTIVE PANEL) FUHR 856 SERIES TWO (2) #7 X 1" FH SMS — B n
27 — . |BALL BEARING BUTT HINGE HAGER: #RCBB1279 (BRASS, S.S. OR PLATED STEEL) ’ — 0.197 Q |
28 - ADJUSTABLE HINGE SIMONSWERK—2D ULTIMATE HINGE (BRASS, S.S. OR PLATED STEEL) r 0.039 ol E
29 1846 DOUBLE DOOR TOP STRIKE PLATE BRASS N 2 W = -
30 1825 DOUBLE DOOR BOTTOM STRIKE PLATE STAINLESS STEEL 0.482 __,‘ I*_ ’ [a] o §
Q zZ +
31 1845 | STRUCTURAL CORNER PLATE STAINLESS STEEL (@ TOP & BOTTOM RAIL OF ACTIVE PANEL ONLY) |,_2Aﬁg7»___.l 3| £ &.i
32 - LATCH AND DFAD BOLT STRIKE PLATE FUHR: # RF38212SS EXT. MULLION COVER = | W oER
33 - HOOK BOLT STRIKE PLATE FUHR: #W4—-020601 @) Q %n-' £ 3
34 - HANDLE AS REQUIRED TO OPERATE DOOR HARDWARE ] 335" PRODUCT RENEWED g Z 505
35 1846 | SINGLE DOOR TOP STRIKE PLATE BRASS ' : (@) I gs complying with the Florida = Zz 52"
36 1825 | SINGLE DOOR BOTTOM STRIKE PLATE STAINLESS STEEL ‘ S| G5 Ces
MISCELLANEQUS FASTENERS : RELepan: 2] z | 4H3 Ez?
37 -~ 18 GA. X 1/2" PIN NAL 3 OR 4 PER LENGTH AS REQUIRED TO SECURE JAMB CLAD @ TOP_STRIKE PLATE (SINGLE DOOR) L2 | £5 388
38 — N0 6 X 1" PH SMS 4 SCREWS_EQUALLY SPACED (1/8” THICK) v/ 2 |56° =1z
39 - NO. 6 X 1 1/4° FH SMS 3 MIN. TO SECURE THERMAL BARRIER 0.197 It o |5¥ 87
40 - NO. 8 X 2" FH SMS 5 PER PANEL CORNER PLATE _ { = 2. © 8
41 - NO. 8 X 3/4" FH SMS 2 PER TOP/BOTTOM AND 3 PER MIDDDLE ADJUSTABLE HINGE INTO JAMB 2 1 T G g
42 - NO. 12 X 3/4" FH SMS 2 PER TOP/BOTTOM AND 3 PER MIDDLE BUTT HINGE INTO JAMB — il f 1482 __*4____.._| _
43 - NO. 8 X 2° FH WOOD SCREW 4 PER ADJUSTABLE HINGE IN TO PANEL : ) T ’ o
44 - NO. 12 X 2" FH WOOD SCREW 4 PER BUTT HINGE INTO PANEL D 1.074” . EXT. MULLION COVER S 8
45 - NO. 8 X 3" FH WOOD SCREW 8 PER ASTRIGAL; 1 1/2°, 3 1/2" & 5 1/2" FROM ENDS + 2 @ 1/3 PIS © J_ 0.102 ‘ o) s
46 - NO. 8 X 2 1/2" FH WOOD SCREW 2 SCREWS 1 1/4" FROM ASTRIGAL ENDS & 14" 0.C. , 2 S
47 - NO. 8 X 2" FH WOOD SCREW AS_REQUIRED FOR DOOR_HARDWARE PROPUCT “fﬂiﬂ’ o N o2
48 —  [N0-8 X 2 1/2" FH WOOD_SCREW WITHIN 5" FROM_CORNERS & 8" MAX. 0.C. BOTTOM STRIKE PLATE 7 x
MULLION CLIPS (SINGLE_DOQOR) o % &
49 4950 | STANDARD MULLION CLIP 6060—T5 ALUMINUM = E:
50 = 1" MULLION CLIP 6060—T5 ALUMINUM
D‘?]AV{RNOGZNO' Rz.
SHEET NO.

8 o 8




